Key word transformation  - Ex. 8

Fill in the gaps in the second sentence with 2-5 words. You must use the word given in exactly the same form. 

1. We should go out this evening to celebrate the birth of your child.
TO                We …………………………. out this evening to celebrate the birth of your child.
2. Did you really have no idea that I was married to Agnes?
UNAWARE             ………………………………….. that Agnes was my wife?
3. Just in case you weren´t able to collect my son, I made other arrangements.
UP             I made other arrangements in case you …………………………… my son.
4. “I am not a fan of swimming in the sea” she said.
FOND        She said that she ……………………………………. swimming in the sea.
5. They carried out the road works on Main Street the week before last.
WERE       The road on Main Street works ………………………………….. week before last.
6. You should listen to your personal trainer, you would get fit quicker.
BETTER      If you want to get fit quickly, you …………………………. to your personal trainer.
 







Answer key:
1. ought to go 
2. Were you really unaware 
3. Could not/couldn´t pick up 
4. Was not/wasn´t fond of 
5. were done the 
6. had better listen

